Efficiency vs Dxy(PV)
0.2

=0.18
0.16
>
20.14
5
'50.12
0.1
0.08
0.06F

(PV)

dx

eff

0.04F
0.02F
20

Ratio

-20 -15 -10 -5 0 5 10 15 20
TP dxy(PV) (cm)

—=— DQM_original_step2_tthar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

I Efficienc] —— DQM_pixelCPETemplateCutChiSquareNew7_step2_ttbar-phasel-newgeom

0.8]

efficiency vs dxy(PV)

0.6}

0.4]

0.2]

Ratio

0.2 04 06 08
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

= [

o L

¥ F

e 1— -------------------- LR R

e T

> I : : : : :

Q r . . . . .

& 0.8f--eeees e SEREED PR

= I . . . . .

) o . . . . .
0.6 = rwreeee CEEREE FATREEE EERRE FERE
0.4 CERERE 1 RERES CRRPES Feeees
0.2f--e e ereegifeene CRRPES Feeees

° G- i i .|. i i

3 H I

v 11 . .

15[ -meeteens FREEEE [ EEEEE REEEEE FREEED
P U R Pao.
30 -20 -10 ©0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. 5 -

o L .

5 f :

* 1—--.--------------. ------------------

> B .

> [ H

o o .

R K: ek oRRtl EREIEPRRECPRRREDE FERRE| BERE

o B .

= r N

) r .
0.6F- peeeene Seeeenns :
0.4f- o PR T ;

Ratio

B 1
TP dz(PV) (cm)



	Contents
	Page 1


